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5742.5 x0.1 = 6412.3 x 0.1 =
5165.6 x0.01 = 8138 x 0.1 =
4456.8 < 0.01 = 7987.2 x0.1 =
1703.2 x 0.01 = 2026.9 x 0.01 =
7491.8 x 0.1 = 38353 x0.1 =
2736.1 x 0.0001 = 2652.2 x0.01 =
4476.5 < 0.01 = 3189 x 0.1 =
2258.7 x0.001 = 3114 x 0.001 =
9525.1 x 0.01 = 1206.4 x 0.0001 =
8806.8 x 0.0001 = 9665.9 x 0.0001 =
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5742.5 x 0.1 = 574.25

5165.6 x 0.01 = 51.656

4456.8 x 0.01 = 44.568

1703.2 x0.01 = 17.032

7491.8 x 0.1 = 749.18

2736.1 x 0.0001 = 0.27361

4476.5 x 0.01 = 44.765

2258.7 % 0.001 = 2.2587

9525.1 x0.01 = 95.251

8806.8 x 0.0001 = 0.88068

=LA

6412.3 x 0.1 = 641.23

8138 x 0.1 = 813.8

7987.2 x 0.1 = 798.72

2026.9 x 0.01 = 20.269

3835.3 x 0.1 = 383.53

2652.2 x 0.01 = 26.522

3189 x 0.1 =318.9

3114 x0.001 = 3.114

1206.4 x 0.0001 = 0.12064

9665.9 x 0.0001 = 0.96659
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